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gAY fAder-
> wt weeTr feard §
It is mandatory to answer all the questions.
> el Y Fer TEAT 40 § |
The total number of questions is 40.
> UdE N & fav 1 3% uia §
Each question carries 1 mark.
TAF 73T & AT aR RFeq Ru v &1 sa987 ¥ & T RAdeq 1 990 AfSw |
Each question is provided with 4 options. Choose the correct option.
Tad 3 & AT FE 37w 7 F1E AT |

There will be no negative marking for any wrong answer.
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LA AT FaaTaT ¢ 2

Which of the following statements is correct?

a) YUY UH 3@%‘& et AT & (management is a goal oriented process)

b) waY TF WEHRF AT § (management is a group activity)

c) UEY ARE Il & W«€fOd § (management is related with human efforts)
d) 3uwiaa @ (all of the above)

2. &efare wawer & Scutes @t ¥-
Production in scientific management is :

a)  3f&&adA (Maximum)
b) g dH (Minimum)
c) AT (Normal)

d)  3it@a (Average)

3. dfAF yae & HAF & T F guel F g 7

By scientific management working hours of workers are :

a)  g&f&r (Increased)



b) @Y (Decreased)

c) g YHIT el (No effect)
d) 3ilaa (Average)

4. 5T # @ FiF T 39ARN AFET F1 IFR AE 2

Which of the following is not a type of standing use plan?

a)  3¢&T (Objectives)

b)  #ifawm (Policies)

c) %A (Programmes)
d) faad (Rules)

5. fsT # @ *iT yaew @7 3q8e T B

Which of the following is an objective of management ?
a) @ 39l (Profit earning)

b) WIS FT fAR (Development of organisation)
c) afa YRor (Policy determination )
d) & @Y (All of these)

6. wesR& faaaY To &1 S=A # g3 a1l
Frederick Winslow Tayor was born in

a) oMl (Japan)

b) W= (France)

c) SHT (Germany)
d L THT(U.S.A)

7. F 3d 7 fFell w97 A FHT W Q@ FE

means completing a task on time.
a) A (efficiency)
b)  Wf$AT (process)
c) AT (plan)
d)  wHTEqTdT (effectiveness)
8. “YaY UF 9T §1” IT FUA §-
“Management is a profession.” This statement is of-

a) Sitet 3. & (George R. Terry)
b) &0 ®AT (Henry Fayol)
c) IR, ®W. 33" (R. C. Davis)

d) IANFT ga TWMRATAST (American Management Association)



9. i §-
Planning is :
a) @& HTAAE (Goal-oriented)
b) 3&e7 HfAFEY (Objective-oriented)
c) AATA® 9fhaT (Mental process).

d) ¥ =it (All the above)

10. T 3redY AT g #-
A good plan is :
a) @dfelt (Expensive)
b) AT A aTe (Time consuming)
c) "qgfad (Balanced)
d) It (Rigid)

11. FergHIor FT HY §-

Centralisation refers to -

a) ITAFR &1 ¥ROT (Retention of authority)
b) 3R &1 AT (Dispersal of authority)
c) AT Feg T fAATT (Creating profit centre)

d) sT9T %eg @rer=T (Opening new centre)

12. FATRAT A TWeaT W AR Far ¢

depends on the willingness of employees.

a) 3ttqa& HarssT (Formal organisation)
b) 3tettgaRe® WIS (Informal organisation)
c) fFaTeA® |IdaT (Functional organisation)

d) fasmiir "erasT (Divisional organisation)

13. r=tqaieE Hraer $iT gem A ¢ g §-

In case of informal organisation authority are-



a) fAFT (Decentralised)
b) & (Centralised)
c) A ™ & faafe (Equally distributed)

d) #$ g (None of these)

14. AFAf@T # ¥ F9 9HR F FF § Qv 3NFR F71 grdeawor g Far s aFar g 2
For which type of work authority cannot be delegated?

a) MU FRF (Secret work)
b) &% ®1F (Routine work)

c)  WYRT &1 (Ordinary work)

d) ¥IT FR (Easy work)

15. fagfaasor W g frar o ue §-

Money spent on staffing is -

a) 4T &Y F91EY (Wastage of money)
b) 31=1dTh (Unnecessary)

c) fafaasts (Investment)
d) 3T & F$ TET (None of these)

16. RgfFasoTe-
9
Staffing is-
a) WIS T AT (Part of organisation)
b) FHATR YE=Er FHT M (Function of employee management)

c) &= &T &1 (Function of management)

d) T |afY (All of these)

17. FHAARET FT TRIETT §-
Employee’s training is-
a) 3ATaRI+ (Necessary)
b) 3reTa’gsh (Unnecessary)

c) THY dY F91EY (Wastage of time)



d) ereT &Y F4Tdr (Wastage of money)

18. wAaRAt & R & afFafaa ad &
Development of employees does not include-

a)  Yglesifa (Promotion)

b) TYETAIOT (Transfer)

c)  3MABIRMAFUT (Retirement)
d)  9f¥&ToT (Training)

19. Jeureer @1 W IrenRa wrAfew R s -
Grouping of activities on the basis of product lines is a part of-
a) 3ART HISA &1 (delegated organization)
b) WHTT WIS &1 (divisional organization)
c) SATcH® HI6A T (functional organization)

d) FAAARAT WIS FT (autonomous organization)

20. forgfFaaor & aeta a3eT T Srar 8-
In staffing selection is done of -

a) fot Aoft & rf=FRAT F7 (lower level executives)
b) #EAH Aot & FAFINAT FT (middle level executives)
c) 3TuaA Avt & IfHINGT F7 (top level executives)
d)  39ied @Y &7 (all of them)

21. T & ¥ &l @ w1 W yfeor fr [/ a8
Which of the following is not a method of on-the-job training ?

a) fAfa=ara yfrator (Induction training)
b)  weISaRATAT FRALTOT (vestibule training)
c)  gfragar 9fAETOT (apprenticeship training)
d) ®FAS (conference)

22. AT WU yaey A wiEAfaa §-

Human resource management includes -
a)  #df (Recruitment)
b) =g (Selection)

c)  wfraTor (Recruitment)
d) ¥ @3t (All of these)



23. @it 3R FureeaRer Feiat ol & A Ik
Promotion and transfer are the main sources of recruitment.

a)  37dRe (internal)
b) dEd (external)
c) a3ikbgHEr (both aand b)

d) SAHA A RS AS (none of these)

24. et FHI FY UF FE F g I qEY FA W AIAAT Fgaral o

Shifting of an employee from one job to another is called-

a)  FYEIERYT (Transfer)

b)  &FmeT (Resignation)

c) &’ (Both)

d) SARARISTE (None of these)

25. WIdd & shiae & e fFar amar &

planning in the life of organisation is done-

a) T&h R (once)

b) & aR (Twice)

c) ®ft-waY (Occasionally)
d) fa=aT (Continuously)

26. AARf@d & ¥ Fl9 A9=T F1 97 IFR § S dfagafeat i Aot |W eAe & & @w IR R S
X

Which of the following is a type of plan made to keep a check on the activities of competitors?

a) 3ca?Y (Objectives)
b) AraEd) (Strategies)
c) o a1 (Rules)

d) Aifa=r (Policies)

27. fargfFasor -
Staffing is-

a) fa3ser #3471 (To plan)

b)  fAIEYT FIET (To control)

c) &R F=T (To direction)

d) fFaar & FF 9 T (To appoint the persons on work)

28. THATE! Y FBTAT &of AT HISA TIET I FHST ST 8-



The form of organisation encouraging remours is known as-

a)  Fenrdd "G (Centralised organisation)

b) fR&dFa H@awsT (Decentralised organisation)
c) I=lgae WIS (Informal organisation)

d) 3ilgaR® "IST (Formal organisation)

29. ISR F ARMIOT FT 3T § relaval F FT ARIOT FIAT|

Delegation of authority means delegation of to subordinates.

a) 3WGIAca HT (responsibility)

b) SHarEeg@r FT (accountability)

c) & &HT (work)

d) & vg gEafeua 3SR FT (work and related authority)

30. AT F YHTA T & AT 39T+ § & 3RaR¥cd § @y st gl
To make delegation effective it is necessary that responsibility is also delegated with

a) &R (Authority)

b) S«ufEd (Man power)

c)  Wiedrgs (Incentives)
d) 9ade (Promotion)

31. gAY TR T STar §-

Co-ordination is established-

a) TISEN & AL (between departments)

b) HHE & HEF (between groups)

C) YSY UG HATUIMNRE! & ALT (between management and workers)
d) 39ded @eft & 7T (between all the above)

32. g4deTH & e AT §

Supervisors come under management.
a) 3T9 TAOT 994 (Top level management)
b) ALY TAT &Y (Middle level management)
c) AT T30 99 (Lower level management)

d) IH ¥ FIE AS (none of these)

33. ¥ FTER, v Foaie w7 § wopg # Gafoa Aqsal § qur 39 F Ay Aagd F FHA WA wF
FA AT Far g1



According to , "Management is the art of getting things done through and with the people in
formally organised groups.”

a) ¥T&AS AFW (Stanley Vance)

b) Fveer AR 3rsAA(Koontz and O'Donnell)
c) &I wAY (Henry Fayol)

d) deT wwo F&T (Peter F. Drucker)

34. "ITAd WISA-UITAT AGATAF fASHIGeT Y Ul § TUT TBT dF 6 3q o€ FT &l & | "I HUT
FT 1

" Wrong organisation structure prevents business performance upto the extent that it destroys it. "This
statement is given by

a) g&Y (Drucker)
b)  ¥aeT (Allen)
c) & (Terry)

d) &R (Taylor)

35. 3YHH A WIST $T FATIAT HIET §-
In an enterprise, organisation is established by-

a) JITddH 9d«H (top management)
b) HEIH Y&« (middle management)
c) A% 9= (lower management)

d) saAH ¥ FI$ AE (None of these)

36. WIS F FEA FT Yod I F AT ggg A AT ST -
Comparehensive plan for accomplishing an organisation's goals is known as-

a) &ifa & T A (Policy)

b) &R%HA & T A (Programme)
c) 3682T F T A (Objective)

d) oY & ¥ 7 (Strategy)

37. fraSIer IfFAT T ggeT HEA FiT AT 82
Which is the first step of planning process ?
a) d=fous ali=wl 1 Ao FIA(Evaluating alternative courses of action)
b) 3g&edl A fAUIRG FT=AT(determination of objectives)

c) Y F F TIASS alldl T IIT HIAT (selecting the best courses of action)
d) 3radd(follow up)

38, gaRT e+ & ¥aad: AR g g



Management itself expands through

a) #RMIT (delegation)

b) FeRIIHIOT ( centralisation)

c) fa®edIHor (decentralisation)

d) 390Fa Wt F ganrr (all of the above)

39. Ueh Ty F) v &1 JFUFRYT & 3nger ureet gl arfev | 6 fAguia & & Rguid & A1 § ST AT

One subordinate should receive orders from one superior only. The principle is known as principle of

a) 32T FY THT (Unity of command)
b) fA&er Y weadr (unity of direction)
c) @YU HG@ell (scalar chain)

d) Ygeol &THAT (Initiative)

40. 5T A A FiT ST FT IFR AT 22

Which of the following is not a type of plan?
a) salc (Budget)
b) @I (Procedure)
c) FRIHH (Programmes)
d) 3FfREUIOM (Motivation)



